PR Received dated 15 Feb 2016 - 28 Feb 2016

Offices Supplies & Consumble Parts

Post Dated 29 Feb 2016

Serial PR No. Do‘:::::nt Item Code PR Line Description PR Qty Unit Buyer B:iy::r EMAIL ADDRESS PR Status RFQD(;::(:Iing
1 11601503 27-Feb-2016 CONZZ29492 WATER GUARD WR DWG.NO.RSH 2004/06 1.00 Each SIRIMUANGKHALA, MR. AEK BSP AekS@ssi-steel.com INCOMPLETE 7-Mar-2016
2 11601512 27-Feb-2016 CONZZ31633 WATER GUARD WR RM BOTTOM H=150 DWG.RSH2012/03 2.00 Each SIRIMUANGKHALA, MR. AEK BSP AekS@ssi-steel.com INCOMPLETE 7-Mar-2016
3 11601513 27-Feb-2016 CONZZ31720 WATER GUARD WR RM TOP H=150 DWG.RSH 2014/03 2.00 Each SIRIMUANGKHALA, MR. AEK BSP AekS@ssi-steel.com INCOMPLETE 7-Mar-2016
4 11601272 19-Feb-2016 CONZZ05907 N-HEXAN (2.5LT/BLT ) 5.00| Bottle PIKKANESUAN, MRS. ANCHALEE BSP Anchalee]@ssi-steel.com INCOMPLETE 7-Mar-2016
5 11601353 19-Feb-2016 CONZZ05908 ETHANOL 10.00| Bottle PIKKANESUAN, MRS. ANCHALEE BSP Anchalee]@ssi-steel.com INCOMPLETE 7-Mar-2016
6 11601376 19-Feb-2016 CONZZ05919 STANDARD SOLUTION CONDUCTIVITY 1413us 480 CC. 2.00| Bottle PIKKANESUAN, MRS. ANCHALEE BSP Anchalee]@ssi-steel.com INCOMPLETE 7-Mar-2016
7 11601352 19-Feb-2016 CONZZ05934 CUP-GRAINDING WHEEL "WA46GH7V6A" 178x78x78 8.00 Each PIKKANESUAN, MRS. ANCHALEE BSP Anchalee]@ssi-steel.com INCOMPLETE 7-Mar-2016
8 11601280 19-Feb-2016 CONZZ29000 CHEMICAL OXYNON H-105 COR ROSION INHIBITOR BOILER 200.00| Kilograms PIKKANESUAN, MRS. ANCHALEE BSP Anchalee]@ssi-steel.com INCOMPLETE 7-Mar-2016
9 11601280 19-Feb-2016 CONZZ29001 CHEMICAL KURITIGHT 512 SCAL CONTROL FOR BOILER 200.00| Kilograms PIKKANESUAN, MRS. ANCHALEE BSP Anchalee]@ssi-steel.com INCOMPLETE 7-Mar-2016
10 11601564 27-Feb-2016 CONZZ29555 ACTIVATED CARBON AC-830I-1050 FOR CARBON FILTER 1,100.00( LITRE PIKKANESUAN, MRS. ANCHALEE BSP Anchalee]@ssi-steel.com INCOMPLETE 7-Mar-2016
11 11601564 27-Feb-2016 CONZZ30219 SELECTED SAND&GRAVEL SIZE 1-2 mm.(1 BAG. = 33 LITR) 15.00 Bag PIKKANESUAN, MRS. ANCHALEE BSP Anchalee]@ssi-steel.com INCOMPLETE 7-Mar-2016
12 11601227 16-Feb-2016 STA4000895 aafosu SIZE 1.7x1.82 m. 10.00 UNIT PIKKANESUAN, MRS. ANCHALEE BSP Anchalee]@ssi-steel.com INCOMPLETE 7-Mar-2016
13 11601474 27-Feb-2016 CONAZ12300 NUT HEX.HEAD  M12-P.=1.75 (STAINLESS) FOR WET SECTION 50.00 Each TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 7-Mar-2016
14 11601287 24-Feb-2016 CONZZ05312 EYE BOLTS DIA 20 MM THREADED 18.00 Each TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 7-Mar-2016
15 11601284 27-Feb-2016 CONZZ05809 SOCKET HEAD CAP SCREW  M16-2x70 mm.(CLASS 12.9) 10.00 Each TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 7-Mar-2016
16 11509591 17-Feb-2016 CONZZ06075 U-BOLT WITH NUT DIA.3/4" (GALV.) 125.00 Each TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 7-Mar-2016
17 11601480 27-Feb-2016 CONZZ06384 BOLT&NUT HEX.(STAINLESS) M12-1.75x50 mm. 60.00 Set TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 7-Mar-2016
18 11601407 27-Feb-2016 CONZZ06714 EXPANSION BOLT (ANCHORS) M8x84 mm.(M10075) 10.00 Each TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 7-Mar-2016
19 11601403 24-Feb-2016 CONZZ06733 FLAT HEAD HEX.SOCKET =~ M10-1.5x30 mm.#FULL THREAD 50.00 Each TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 7-Mar-2016
20 11508987 27-Feb-2016 CONZZ06764 BOLT&NUT HEX.HEAD M6-1x40 mm.(CLASS 8.8) FOR VEHICLE 35.00 Set TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 7-Mar-2016
21 11600483 27-Feb-2016 CONZZ06764 BOLT&NUT HEX.HEAD M6-1x40 mm.(CLASS 8.8) FOR VEHICLE 60.00 Set TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 7-Mar-2016
22 11601291 24-Feb-2016 CONZZ06834 LOW HEAD SOCKET CAP SCREWM12-1.75x25MM. FOR SKM#1,2 90.00 Each TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 7-Mar-2016
23 11601408 27-Feb-2016 CONZZ08013 BOLT HEX.HEAD(CLASS 8.8) M20-2.5x60 mm.(DRILL HEAD 3MM.) 60.00 Each TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 7-Mar-2016
24 11600821 24-Feb-2016 CONZZ08029 BOLT HEX.HEAD (CLASS8.8) M24-3x140 mm. 20.00 Each TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 7-Mar-2016
25 11600822 24-Feb-2016 CONZZ08132 SOCKET HEAD CAP SCREW  M20-2.5x120 mm. CLASS 8.8 40.00 Each TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 7-Mar-2016
26 11601405 27-Feb-2016 CONZZ08421 EXPANSION BOLT (ANCHORS) M6x47 mm.(M8040) 25.00 Each TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 7-Mar-2016
27 11601482 27-Feb-2016 CONZZ08840 (E:);;E;TSL RETAINING RING DIA.60 mm.(STEEL) FOR LOAD AND UNLOAD 5.00 Each TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 7-Mar-2016
28 11601423 27-Feb-2016 CONZZ09709 BOLT HEX.HEAD M16-2x70 mm.#CLASS 10.9 100.00 Each TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 7-Mar-2016
29 11601498 27-Feb-2016 CONZZ10327 BOLT HEX.HEAD M20-2.5x45 mm.(CLASS 8.8) 60.00 Each TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 7-Mar-2016
30 11601311 24-Feb-2016 CONZZ16421 U-BOLT WITH NUT,WASHER DIA.2" END THREAD M12 10.00 Each TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 7-Mar-2016
31 11601046 24-Feb-2016 CONZZ18010 SOCKET SET SCREW M8-1.25x20(STAINLESS 304) 10.00 Each TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 7-Mar-2016
32 11601183 27-Feb-2016 CONZZ18680 GRIP LOCK PIN FOR FILTER PRESS DIA.10 MM. MAT.SPRING TYPE B 100.00 Each TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 7-Mar-2016

Page 1 of 4




PR Received dated 15 Feb 2016 - 28 Feb 2016 Offices Supplies & Consumble Parts Post Dated 29 Feb 2016

Serial PR No. Do‘:::::nt Item Code PR Line Description PR Qty Unit Buyer B:iy::r EMAIL ADDRESS PR Status RFQD(;::(:Iing
33 | 11600834 | 24-Feb-2016 | CONZZ20718 |GASKET FLANGE (NON-ASBESTOS) DIA.6" PN16 (DIN) TH.=3 mm. 10.00| PIECES TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 7-Mar-2016
34 | 11601181 | 24-Feb-2016 | CONZZ21085 |BOLT HEX.HEAD (STAINLESS) M10-1.50x25 mm. 60.00| Each TEANGTUNG, MRS. CHUTIPA BSP ChutipaT @ssi-steel.com INCOMPLETE 7-Mar-2016
35 | 11508585 | 27-Feb-2016 | CONZZ21627 |EXPANSION BOLT M8X65 MM 100.00| Each TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 7-Mar-2016
36 | 11601179 | 17-Feb-2016 | CONZZ23821 |BOLT AND NUT(CLASS 10.9) 1"'x8G L=3 3/4™ FOR KRESS 20.00| Each TEANGTUNG, MRS. CHUTIPA BSP ChutipaT @ssi-steel.com INCOMPLETE 7-Mar-2016
37 | 11601304 | 24-Feb-2016 | CONZZ24314 |SOCKET HEAD CAP SCREW M6-1x30MM(STAINLESS) 40.00| Each TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 7-Mar-2016
38 | 11600502 | 27-Feb-2016 | CONZZ26358 |LOCKNUT # ANO2 M15x1 PART NO.510311/28 FOR PREFLEX ROLL 10.00| Each TEANGTUNG, MRS. CHUTIPA BSP ChutipaT @ssi-steel.com INCOMPLETE 7-Mar-2016
39 | 11601495 | 27-Feb-2016 | CONZZ28359 |SPRING LOCK WASHERS ~ M12 (STAINLESS STEEL) 50.00| Each TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 7-Mar-2016
40 | 11601036 | 24-Feb-2016 | CONZZ28499 fg‘;‘;ET HEAD CAP SCREW  M36-4x130MM ENTHREAD=90 MM (CLASS 12.00| Each TEANGTUNG, MRS. CHUTIPA BSP ChutipaT @ssi-steel.com INCOMPLETE 7-Mar-2016
41 | 11601502 | 27-Feb-2016 | CONZZ28983 |BOLT&NUT HEX.STAINL.ST.A4 55010 M16-2 x 100MM. 20.00|  Set TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 7-Mar-2016
42 | 11601501 | 27-Feb-2016 | CONZZ28987 |BOLT&NUT HEX.STAINL.ST.A4 55010 M16-2 x 80 MM. 16.00]  set TEANGTUNG, MRS. CHUTIPA BSP ChutipaT @ssi-steel.com INCOMPLETE 7-Mar-2016
43 | 11600853 | 24-Feb-2016 | CONZZ29025 ggv‘l\fn\:'ﬁw SOCKET CAP SCREW M16-2x70MM. #CLASS 8.8 (END THREAD = 130.00| Each TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 7-Mar-2016
44 | 11601439 | 27-Feb-2016 | CONZZ30503 g‘zt\T/.;'EX'HEAD M18-2.5x120 mm. +NUT+SPRING WASHER (HOT DIP 30.00|  Set TEANGTUNG, MRS. CHUTIPA BSP ChutipaT @ssi-steel.com INCOMPLETE 7-Mar-2016
45 | 11601440 | 27-Feb-2016 | CONzz30s04 [BOLT MEXHEAD (HOTDIP GAL) MI6-2x80 mm. +NUT+SPRING WASHER 20.00|  Set TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 7-Mar-2016
46 | 11601347 | 24-Feb-2016 | CONzz31500 [KT¥ SHAFTDCMOTOR 19x105x11.5 MM, FOR DC MOTOR TYPE MDSOS- 3.00| Each TEANGTUNG, MRS. CHUTIPA BSP ChutipaT @ssi-steel.com INCOMPLETE 7-Mar-2016
47 | 11601515 | 25-Feb-2016 | STA2000039 |idawiinowmdindu SIZE L 130.00| Each TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 7-Mar-2016
48 | 11601515 | 25-Feb-2016 | STA2000514 |idaTald SSI+endn 1,925.00| Each TEANGTUNG, MRS. CHUTIPA BSP ChutipaT @ssi-steel.com INCOMPLETE 7-Mar-2016
49 | 11601515 | 25-Feb-2016 | STA2000515 |mane 2,055.00| Each TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 7-Mar-2016
50 | 11601159 | 27-Feb-2016 | CONZZO06123 |CABLE TIES CT-150-3  LONG = 150 MM.( 6") 1,000.00| Each THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 7-Mar-2016
51 | 11601190 | 17-Feb-2016 | CONZZ09161 |CABLE TIES CT-340-7  LONG = 340 MM.( 13 1/2") 300.00| Each THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 7-Mar-2016
52 | 11508550 | 17-Feb-2016 | CONZZ10626 |BATTERY 12V7.0AH  DIA.65x151x97.5 MM 2.00| Each THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 7-Mar-2016
53 | 11601184 | 17-Feb-2016 | CONZZ17524 2';’;;'\'56 1D212x3.5 NBR (P/N 2666) FOR  AXLE AND WHEEL GROUP OF 1.00| Each THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 7-Mar-2016
54 | 11600500 | 27-Feb-2016 | CONZZ26356 |SEAL CR#7920 TYPE#CRW1R DIA.20x36x7 mm. FOR PREFLEX ROLL 8.00| Each THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 7-Mar-2016
55 | 11600501 | 27-Feb-2016 | CONZZ26357 |V-RING CR#400204 TYPE#VR1(20mm) FOR PREFLEX ROLL 8.00| Each THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 7-Mar-2016
56 | 11600503 | 27-Feb-2016 | CONZZ26359 |LOCK WASHER # AW02 FOR PREFLEX WORK ROLL 20.00| Each THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 7-Mar-2016
57 | 11601257 | 16-Feb-2016 | CONZZ26983 |Uadauvasuas(VIBRATION) SIZE 1-1/8" 10.00| Each THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 7-Mar-2016
58 | 11601257 | 16-Feb-2016 | CONZZ27832 |vadaumasuas(VIBRATION) SIZE 1/2" 10.00| Each THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 7-Mar-2016
59 | 11601340 | 24-Feb-2016 | CONZZ29153 |RT-29 SEAL I/S NEOPRENE HARDNESS60-65 SHORE A 4.00| PIECES THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 7-Mar-2016
60 | 11601235 | 17-Feb-2016 | CONzz30092 |[SUTDERINGS DA 120x125xd5mm. (PORT 120-125-15/2.5) 8.00| Each THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 7-Mar-2016
61 | 11601235 | 17-Feb-2016 | CONZZ30093 |GUIDE RINGS DIA.80x85x15mm.(PORT 080-085-15/2.5) MAT:PTFE+BRONZE 8.00| Each THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 7-Mar-2016
62 | 11601456 | 25-Feb-2016 | CONAZ04748 |SPLIT FLANGE HALF#3000PSI3/4" P/N 449-74446-12 20.00|  Sset JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 7-Mar-2016
63 | 11601156 | 27-Feb-2016 | CONZZ04862 |MOBILE HEAD UNDERCLOTH 425/D/25 CODE.20530400T4K 1.00| Each JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 7-Mar-2016
64 | 11601160 | 27-Feb-2016 | CONZZ06939 |INTERMEDIATE CLOTH TYPE.425/D/25 CODE2033A400T2M 22.00| Each JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 7-Mar-2016

Page 2 of 4




PR Received dated 15 Feb 2016 - 28 Feb 2016

Offices Supplies & Consumble Parts

Post Dated 29 Feb 2016

Serial PR No. Do‘:::::nt Item Code PR Line Description PR Qty Unit Buyer B:iy::r EMAIL ADDRESS PR Status RFQD(;::(:Iing
65 11601153 27-Feb-2016 CONZZ06940 INTERMEDIATE UNDERCLOTH C8 4F+FA CODE 2052A400T6G 22.00 Each JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 7-Mar-2016
66 11601314 24-Feb-2016 CONZZ13051 BALL VALVE 1/2" #STAINLESS WP 400 PSI. ( END THREADED ) "KITZ" 5.00 Each JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 7-Mar-2016
67 11601187 27-Feb-2016 CONZZ13908 MOBILE HEAD CLOTH TYPE 425/D/25 CODE.20330400T2M 1.00 Each JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 7-Mar-2016
68 11601282 19-Feb-2016 CONZZ20604 WHITE METAL LGSN80 (5Kg/EA) 100.00| Kilograms JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 7-Mar-2016
69 11600832 24-Feb-2016 CONZZ21895 UNION F/F CARB DIA.2 1/2"-11G( 002710 ) 15.00 Each JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 7-Mar-2016
70 11601158 17-Feb-2016 CONZZ05695 ACID (dnsa) FOR VEHICLE 44.00| Bottle CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 7-Mar-2016
71 11600600 27-Feb-2016 CONZZ06031 PAINT BRUSH 2 1/2" 20.00 Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 7-Mar-2016
72 11601406 27-Feb-2016 CONZZ06031 PAINT BRUSH 2 1/2" 20.00 Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 7-Mar-2016
73 11601483 27-Feb-2016 CONZZ06427 ENAMEL PAINT BLACK #333 (3.500 LT.) 22.00( GALLON CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 7-Mar-2016
74 11601292 24-Feb-2016 CONZZ06430 ENAMEL PAINT BLUE #705 (3.500 LT.) 22.00( GALLON CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 7-Mar-2016
75 11600126 24-Feb-2016 CONZZ06436 ENAMEL PAINT GREEN #605 (3.5 LT.) 27.00( GALLON CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 7-Mar-2016
76 11600126 24-Feb-2016 CONZZ06448 ENAMEL PAINT WHITE #101 (3.500 LT.) 24.00( GALLON CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 7-Mar-2016
77 11601289 19-Feb-2016 CONZZ06501 WELDING ELECTRODE"GEMINI"AWSE7016 DIA.4 MM LD52 100.00| Kilograms CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 7-Mar-2016
78 11601313 27-Feb-2016 CONZZ13840 FILL COAT SHELL (3.500 LT.) 9.00| GALLON CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 7-Mar-2016
79 11601544 27-Feb-2016 CONZZ13979 UNI PAINT MARKER (PX-20) WHITE 12.00 Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 7-Mar-2016
80 11600743 24-Feb-2016 CONZZ14752 DEGREASE CLEANER(BLUE) SPAY 12.00 Can CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 7-Mar-2016
81 11601545 27-Feb-2016 CONZZ15252 T-WAY CONNECTOR PVC 1" SIZE 1"-1"-1" 2.00 Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 7-Mar-2016
82 11601341 24-Feb-2016 CONZZ29537 RUBBER GASKET SHEET (EPDM) SIZE 1000x3 mm. 2.00| Metres CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 7-Mar-2016
83 11601443 19-Feb-2016 CONZZz31243 aszamdffouls wue wun 2.0 uw. 817 10.5 2w, A9 5 o, 70.00 Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 7-Mar-2016
84 11601212 24-Feb-2016 CONZZ31245 dndadasne 2uie OX was 19-25 "ORBIT" 14.00 Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 7-Mar-2016
85 11601545 27-Feb-2016 CONZZ31898 ELBOW 90 PVC 1 1/4" CLASS 8.5 3.00 Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 7-Mar-2016
86 11601545 27-Feb-2016 CONZZ31899 REDUCER PVC 1 1/4" x 1" CLASS 8.5 3.00 Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 7-Mar-2016
87 11601366 19-Feb-2016 STA3000008 sueewiauIini 4.00 Set CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 7-Mar-2016
88 11601366 19-Feb-2016 STA3000045 fAanuaa SW aua 1/2" "SANWA" 3.00 Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 7-Mar-2016
89 11601366 19-Feb-2016 STA3000211 avraunin 3" 3.00 Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 7-Mar-2016
90 11601366 19-Feb-2016 STA3000213 aniadszquuudan 2 iy 3.00 Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 7-Mar-2016
91 11601366 19-Feb-2016 STA3000368 unutiwanteinindu  SIZE 402-01 4.00 Set CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 7-Mar-2016
92 11601366 19-Feb-2016 STA4006530 thenaeviastihiinwiaunystaed 2000 ML/GALLON 12.00| GALLON CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 7-Mar-2016
93 11601366 19-Feb-2016 STA4006621 ACRYLIC ROOF SEALER "SISTA" D100 (2KG./CAN) 12.00 Can CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 7-Mar-2016
94 11601363 19-Feb-2016 CONAZ28682 TAP (HSS-HT) M5 x 0.8 mm 1.00 Set SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 7-Mar-2016
95 11601363 19-Feb-2016 CONAZ28683 HAND TAP HSS M6*1MM."KANI" 1.00 Set SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 7-Mar-2016
96 11601363 19-Feb-2016 CONAZ28685 TAP (HSS-HT) M8 x 1.25 mm 2.00 Set SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 7-Mar-2016

Page 3 of 4




PR Received dated 15 Feb 2016 - 28 Feb 2016

Offices Supplies & Consumble Parts

Post Dated 29 Feb 2016

Serial PR No. Do‘:::::nt Item Code PR Line Description PR Qty Unit Buyer B:iy::r EMAIL ADDRESS PR Status RFQD(;::(:Iing
97 11601363 | 19-Feb-2016 | CONAZ28694 |HAND TAP HSS M12*1.75 MM."KANI" 1.00[  Set SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 7-Mar-2016
98 11601363 | 19-Feb-2016 | CONAZ31218 |HAND TAP HSS M 18 * 2.5 MM. "KANI" (2EA/SET) 1.00]  set SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 7-Mar-2016
99 11601492 | 24-Feb-2016 | CONZZ28636 |MOUNTED WHEELS TYPE A4 DIA.30x30 mm. 5.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 7-Mar-2016
100 | 11601346 | 24-Feb-2016 | CONZZ31246 |wadawlvihh 500 Amp (diluusi) fa CHIYODA MODEL : CH-500 3.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 7-Mar-2016
101 | 11601258 | 16-Feb-2016 | CONZZ31855 S%ELIELFE‘ ti‘ﬁi’f&'g:’,\}gm LIMIT SWITCH (P/N.821-041-05001) FOR 10.00[  Set SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 7-Mar-2016
102 | 11601387 | 19-Feb-2016 STA3000403  |anudanaush 6 wmdmuuau 3/4" NO.27 (PROTO 07527ML) 2.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 7-Mar-2016
103 | 11601365 | 19-Feb-2016 STA4006597  [Wa1u ULTRAFIRE ZOOM POWER STYLE (BOX SET) 3.00|  set SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 7-Mar-2016
104 | 11601253 | 16-Feb-2016 STA9999999  |wiffuiusaiusawirahe HINO FM 1 3/8 h 2.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 7-Mar-2016
105 | 11601271 | 19-Feb-2016 STA9999999  |ufliiwiwiada HINO ENGING HO6C 1.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 7-Mar-2016
106 11508350 19-Feb-2016 CONAZ09233 LEATHER GLOVE geflantivansvnssutindu  (snasingadszna 3") (wilsaiu) 2,400.00 PAIR PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 7-Mar-2016
107 | 11601361 | 19-Feb-2016 | CONAZ28939 :gS\’;ISLIEgSL V;??)RSR?E_'?%LZ&’;”“E&?“ﬁcaggYB)S/ SE/F/SHE/OS/WP/05 100.00| BOOK PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 7-Mar-2016
108 11601361 | 19-Feb-2016 CONAZ28941 :SITNTWSXMP;RT.E;"::’g:,‘f”"”) BS/SE/F/SHE/OS/WP/01 (REVISION : B5) 100.00| BOOK PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 7-Mar-2016
109 | 11508952 | 19-Feb-2016 | CONZZ28459 |LEATHER GLOVE LENGHT 12 600.00| PAIR PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 7-Mar-2016
110 | 11601344 | 27-Feb-2016 | CONZZ30522 |noumrdsmune 24"x28" 30.00| Kilograms | PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 7-Mar-2016
111 | 11601538 | 27-Feb-2016 STA1000194  |PRESCRIPTION ASSEMBLE ROLLS 3 COPY 50.00| BOOK PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 7-Mar-2016
112 | 11601368 | 19-Feb-2016 STA1004281  |FORMAT DELIVERY NOTE 3 COPY 12.00]  box PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 7-Mar-2016
113 | 11601516 | 25-Feb-2016 STA9999999  [laildwas 1 (daldavnin) 50.00| Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 7-Mar-2016
114 | 11601591 | 27-Feb-2016 STA9999999  [uriu Acrylic la mwa 120x240x5 3wy 1 udiu 1.00[ UNIT PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 7-Mar-2016

Page 4 of 4




